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PROBLEM:
The best way to work it is to draw pictures with “typical” input and impulse response signals.

The impulse response of an LTI continuous-time system is such that h(t) = 0 for t ≤ T1 and for t ≥ T2.
By drawing appropriate figures as recommended for evaluating convolution integrals, show that if x(t) = 0
for t ≤ T3 and for t ≥ T4 then y(t) = x(t) ∗ h(t) = 0 for t ≤ T5 and for t ≥ T6. In the process of proving
this result you should obtain expressions for T5 and T6 in terms of T1, T2, T3, and T4.
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